Purchase Order

Semolina Kitchens Private Limited

Order Number: Semolina/PO/24-25/001515

Supplier Detail	Shipped Location	Invoice Location
VART INFRACON PRIVATE LIMITED Supplier Code: RV232417353 [V000200]	Semolina Kitchens Private Limited Lucknow	Semolina Kitchens Private Limited Lucknow
(V000200)	Chaudhary Charan Singh International Airport, Amausi, Lucknow - 226009, UP	Chaudhary Charan Singh International Airport, Amausi, Lucknow - 226009, Up
		GSTIN No: 09ABICS8699F1ZH
PAN No : AAICV6164F Supplier GST No : 27AAICV6164F1Z2 Supplier Contact No : Contact Person Name : Sameer Darekar/Rohit Mistry Supplier Email : accounts@vartinfra.com	Cost Center Code : 90710308 Cost Center Name : LKN Dom The Irish House Project ID : 0 PO Category : Capex NSO	Payment Term: Payments Terms: Advance - 30% within 7days of Work Order acknowledgement (by the vendor) upon bank Guarantee or Undated Cheque of equivalent amount that of the PO value inclusive of GST. RA Bill 1- Up to 70% upon 80% work completion & submission of Tax Invoice (from which advance amount would be recovered). Final Bill- Up to 95% upon 100% work completion & signed JMR. Retention- 5% up to the DLP of 6 months from the date of successful virtual completion of the project PO Creation Date: 16/11/2024 PO Approval Date: 18/11/2024 PO Currency: INR Buyer Name: Mrunal Joshi

Sr.No	Item Code	HSN\SAC Code	Item Name	Item Description	Pur. Grp.	Qty	UOM	Basic Rate	Dis%	Net Rate	Total Amount	IGST %	Gross Total Amount
1		995479	Civil Interior work	Civil Interior work	B01	1.00	NOS	820,850.00	0.00	820,850.00	820,850.00	18	968,603.00
2		995479	Plumbing Work	Plumbing Work	C01	1.00	NOS	227,895.00	0.00	227,895.00	227,895.00	18	268,916.10
3		995479	Smoke Detector	Smoke Detector	C01	1.00	NOS	23,850.00	0.00	23,850.00	23,850.00	18	28,143.00
4		995479	Electrical Work	Electrical Work	C01	1.00	NOS	352,700.00	0.00	352,700.00	352,700.00	18	416,186.00
5		995479	Fire Sprinkler System	Fire Sprinkler System	C01	1.00	NOS	118,632.00	0.00	118,632.00	118,632.00	18	139,985.76

Total Qty: 5.00

Total Basic PO Amount

1,543,927.00

Total Other Charges

IGST Amount

277,907

Amount In Words: Rupees Eighteen Lakh Twenty One Thousand Eight Hundred Thirty Three And Eighty Six Paisa Only

Grand Total PO Amount

1,821,833.86

Remarks: Liquidated Damages: The CONTRACTOR shall pay liquidated damages as under, for any delay in the physical completion of the works

- 5% of the contract value for delay during Week 1.
- 7.5% of the contract value for delay during Week 2
- 10% of the contract value per week for delay from Week 3 onwards.

Standard Terms And Condition:

Completion / Delivery TimeLine: Within 37 days from the date of PO is received. (7 days for the mobilization)

Mobilization Date:

Defects Liability Period: 6 Months from the date of successful virtual completion certification

Retention Percentage: 5

Escalation Buyer Detail					
Name	Mobile No.	Email - ID			
Mrunal Joshi	8390813805	mrunal.joshi@k-corp.in			
Stephen P.	8553338827	stephen.p@k-corp.in			

Disclaimer:

Point 1: Unless informed to us it is assumed that you are not registered as MSME with the respective government authority. If you have not yet provided the MSME details along with proof kindly provide the same at the earliest. Alternatively once you get registered then provide us relevant proof to update our records.

Point 2: Supplier is requested to acknowledge or decline the order within 24 hours or else it would be considered as accepted.

ItemName : Civil Interior work

Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
1		PCC Layer - Providing and Laying P.C.C 1 3 6 of average thickness of upto 50mm of M 10 grade of concrete (1 cement 3 coarse sand 6 graded stone aggregate 20 mm nominal size) as floor base.	Sq.m.		40.00	1,500.00	60,000.00
2		Flush door (35 mm thk ply) finished with 1mm thk. LAMINATEon both side, having vision panel of size 1 ft -0 inch x 1 ft -0 inch at eye level and SS Kick Plate (Matt Finish). All necessary hardware (i.e. lock, handle, hinges, latch or tower bolt, door stopper, door pvc buffer etc) to be provided. All to be completed as per the details are provided in drawings or as directed by Architect or Engineer. Door Size 3 ft 0 inch x 7 ft 0 inch. Fire rated doors with certificate.	No		1.00	50,000.00	50,000.00
3		KOTA STONE FLOORING - Providing and laying of 25 thk. 560mmX560mm Kota Stone flooring over a bed of 20mm thk. Cement mortar (1 4) jointed with cement slurry mixed with pigment to match the color of kota stone including hole cutting for traps etc. necessary cutting, rubbing, grinding and mirror polishing completed as per the details are provided in drawings or as directed by Architect or Engineer.	Sq.m.		35.00	2,640.00	92,400.00
4		KOTA STONE SKIRTING (4 inch high) - Providing and fixing of 25mm thk. kota stone 4 inch high over a bed of 20 mm thk. Cement mortar (14) jointed with cement slurry mixed with pigment to match the coloure of KOTA including necessary wastage, cutting, grinding and polishing completed as per the details are provided in drawings or as directed by Architect or Engineer.	R.M		35.00	330.00	11,550.00
5		Gypsum False ceiling - Fire rated - Providing and fixing -in position Saint Gobain Gyproc make, Gypsum Board fire rated False Ceiling as per manufacturer ft s specifications and instructions with 12.5 mm thick 'Gypboard ft Screw-fixed to the underside Of suspended G.I. grid. G.I. grid should be Constructed and suspended from the main ceiling as per manufacturer ft s instructions and as per specifications using Original Co. Specified GypRock Framework Sections G.I.24 gauge The Gypboard should be fixed to G.I. grid with 25 mm long Drawali Screws. The 'Gypboard ft to be used should be 12.5mm thick FireRated Saint-Gobain make Tapered edge boards. The boards should Be taped and filled from underside to give smooth, seamless ceiling. The rate should include necessary additional ceiling sections and intermediate channels openings for light fixtures, A.C. ducts, vertical drops, offsets. etc. Additional Intermediate channels should be fixed to strap hangers for additional support to prevent strap hangers from buckling or swaying at every 1200 mm. Item to be completed in all respect including necessary sleeves for ducts finishing of joints cut outs supports for A.C. grills, light fixtures, speakers etc.	Sq.m.		35.00	1,920.00	67,200.00
6		(1500,mm x 750mm)	No		1.00	14,000.00	14,000.00
7		CINDER or LIGHT WT. SIPORAX BLOCK BATS FILLING			0.00	0.00	0.00
8		PAINTING AND POLISHING			0.00	0.00	0.00

9	MOH raised floor - Providing and Filling light wt. Siporex block bats to conceal drainage and plumbing lines. The Top layer should be finished properly to receive P.C.C base flooring layer on it. The same shall be completed as per the details are provided in drawings or as directed by Architect.	Sq.m.	40.00	2,100.00	84,000.00
10	P or F HARD Wood door frames i.e Sal wood or Equivalent 2.5 inch X 5 inch complete with grooves as specified complete polished matching to the laminate as specified, with all necessary hardware such as hold fasts with polish finish of approved shade etc. completed as per design and details given in drawing or Architect instruction. Architect to mention the size and number of HOLD FASTS, door frames to be manufactured with horns minimum 3 inch , rebate size and a temporary wooden strip to retain the shape of the frame etc.including polish of approved shade. Basic cost of wood is Rs2000.00 per Cu. ft.	Cum	0.10	192,000.00	19,200.00
11	FLOORING and WALL TILLING WORK		0.00	0.00	0.00
12	Granite on Jambs, Back counter top ST-02 - Providing and Fixing of 18mm th. Black Granite on wall, Floor jambs and Back counter top as appvd with adhesive as per the design and specifications. Joints to be filled properly with pigmented cement or epoxy grouts matching the tile or stone. Flooring should be fixed in proper plumb line . Job to include cost of labour, material, watage, chmafering, polishing of edges, cartage, loading, unloading, cutting, fixing and grouting.	Sq.m.	5.00	7,000.00	35,000.00
13	MISCELLANEOUS		0.00	0.00	0.00
14	Hoods installation with all accessories or fittings such as ms support or anchor fasteners etc in all aspects.	Job	1.00	11,500.00	11,500.00
15	Asian Royale Paint Morning Glory- 0765 PT-01 - Sand papering the finished gypsum ceiling surface, filling in the cracks on the surface if any, Apply a coat of cement primer on the surface, Applying enamel putty making the surface smooth, applying one more coat of cement primer on the surface and applying two or more coats of approved Black Royale paint in approved hue to achieve uniform shade.	Sq.m.	40.00	900.00	36,000.00
16	Flush door (35 mm thk ply) finished with approved laminate, having vision panel of size 1 ft -0 inch x 1 ft -0 inch at eye level and S.S. Kick Plate (Matt finish). All necessary hardware (i.e. Liver Handle with motrice Latch and Lock high, door stopper, PVC Buffer etc. to be provided. client of size 4 inch x3 inch polished or painted to match dessert recon laminate color and having open door closure fixed on hinges. All to be completed as per the details are provided in drawings or as directed by Architect or Engineer. Door Size 3 ft 6 inch x 7 ft 0 inch. Fire rated doors with certificate.	No	1.00	50,000.00	50,000.00
17	WOOD WORK - DOOR - FIRE RATED WITH CERTIFICATE		0.00	0.00	0.00

	Total	: 376.10	I	820,850.00
23	(1500,mm x 1750mm) No	1.00	18,500.00	18,500.00
22	CEILING WORKS	0.00	0.00	0.0
21	Commercial Tiles for Wall TL-04 - Providing and Fixing of Sq.m. 200x300mm Commerical wall tile as appvd with cement-sand mortar bedding of appd proportions as per the design and specifications. Joints to be filled properly with pigmented cement or epoxy grouts matching the tile or stone. Flooring should be fixed in proper plumb line . Job to include cost of labour, material, cartage, loading, unloading, cutting, fixing and grouting.	95.00	1,900.00	180,500.0
20	Equipment ft s shifting from terminal outside till outlet with Job placement, kinldy note proper handling and shifting to be done.	1.00	28,000.00	28,000.0
19	Providing and fixing STAINLESS STEEL CORNER GUARD, finished in Black anodized color with all necessary arrangements and hardware, all as per approved sample, as shown in drawing, including all wastage, all incidentals, clamp, cutting, fixing, lead, lift, scaffolding, staging, as shown in drawing, complete in all respect as per drawing, designs and directions by Architect or Project-In-charge.	45.00	1,400.00	63,000.0
18	Providing and fixing Trap door to be made of 19mm fire rated ply, finished with laminate or approved paint to match the shade of false ceiling. The trapdoor edges to be finished with 8mm thick teak wood lipping painted to match ceiling color. The item is inclusive of all fittings, fixtures and hardware; providing and fixing all necessary SS hinges (concealed), approved locking system, tied with safety chain, any frames, necessary support structure from the ceiling for fixing the trap door shutters, shadow gap, tools and tackles etc. Rate shall include all wastage, necessary cutting, all leads and lifts at all levels, loading and unloading, transportation and all other incidental charges, cost of materials, providing patterns, as per design, labour, etc., complete as per specification, design and details, as per the instructions of the Architect or Engineer in charge.	0.00	0.00	0.0

ItemName : Plumbing Work

Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
24		WATER SUPPLY PIPES - CPVC Pipes - Supply, laying, testing and commissioning of FOOD GRADE CPVC pipes conforming to CTS (Copper Tube Size) SDR-11 as per (is 15778 ASTM D 2846) with necessary fittings up to the size of 50 mm dia. (Make – SUPREME or KASTA) including all necessary fitting as per site. 20mm dia	R.M.		40.00	700.00	28,000.00
25		100mm dia	R.M.		20.00	580.00	11,600.00
26		50mm dia for	R.M.		3.00	415.00	1,245.00
27		OPEN GRATING - Providing and Fixing 20mm heavy quality SS triple layer Grating along with Perforated Mesh and Angle Frame of width 200mm, complete as per detail Drawings. Rate inclusive of chamber construction with water proofing and tiles fixing with grouting etc. Size - 1000mm x 200mm	Nos.		1.00	15,000.00	15,000.00

28	ANGLE VALVE - Providing and Fixing Angle Valve with connector pipe.	Nos.		12.00	1,800.00	21,600.0
29	WATER DRAIN PIPES - UPVC WASTE PIPE - UPVC Pipe for Drainage (Make – SUPREME or KASTA) including all necessary fitting as per site.			0.00	0.00	0.0
30	INSPECTION CHAMBER - Supply, Laying, Testing and Commissioning of Approved SS Inspection Chamber along of Size - 450mmx450mm with SS Cover and SS Grating over it and perforated sheet. Make Jaquar or Ozone. Including trenching and finishing with ceramic tiles as per dwg and details with proper water proofing to avoid any issues	Nos.		4.00	13,950.00	55,800.0
31	FLOOR TRAP - Supply, Laying, Testing and Commissioning of 100x100mm Floor Trap with Approved Make heavy duty round or Square. Cockroach trap to be given. Proper water proffing to be done to avoid any leakages	Nos.		4.00	1,850.00	7,400.0
32	Gate Valves - Providing and Fixing PPR Ball Valve ISI mark. (For Inlet)	Nos.		2.00	2,750.00	5,500.0
33	Grease Trap connections - Grease trap connections with all fittings or accessories	Nos.		1.00	9,000.00	9,000.0
34	LONG BODY TAP for sink - Providing and Fixing Sink Cock.	Nos.		1.00	1,850.00	1,850.0
35	Handwash sink connections - complete drain and supply connections with all fittings or accessories	Nos.		1.00	4,500.00	4,500.0
36	S.S. Grating or coackroach trap - Providing and Fixingof S.S. cockroach trap with proper water proofing as per drawings.	Nos.		4.00	1,350.00	5,400.0
37	Water Meter - 25mm Dia Water meter	Nos.		1.00	8,800.00	8,800.0
38	Water supply connection - water supply connection taken from existing point complete with all necessary fittings or accessories.	Nos.		1.00	6,900.00	6,900.0
39	Commercial RO plant - 100 Litre capacity with wall hanging arrangements - Providing and fixing of commercial RO with water storage with all required necessary valves, Fittings and required pressure Pump for the same with automatic cut off sensor or electrical cables or connections. included all fittings or accessories. Also drain point to be given	Nos.		1.00	0.00	0.0
40	Water Tank - Providing and fixing of 200 Ltr. Storage Loft Tank on MS Platform with all necessary valves and fitting required.	Nos.		1.00	11,000.00	11,000.0
41	CHAMBER and GRATING			0.00	0.00	0.0
42	VALVE AND TAP			0.00	0.00	0.0
43	LONG BODY TAP for hand wash sink - Providing and Fixing Sink Cock. with foot operated	Nos.		1.00	4,150.00	4,150.0
44	ACCESSORIES			0.00	0.00	0.0
45	GEYSER - 20 LITER GEYSER	Nos.		1.00	23,250.00	23,250.0
46	Drainage connection - Drainage connection connect to existing drain point complete with all necessary fittings including cleanout plug, fittings to be match with CI drain pipe tap off given from airport authority. Testing to be done with sign off from airport authorities engg team.	Nos.		1.00	6,900.00	6,900.0
			Total :	100.00		227,895.0

ItemName : Smoke Detector

Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
47		HD (HEAT DETECTOR) INSTALL NEAR HOOD - Providing and fixing electrically operated flow indicating mechanical foam type (ISI marked) A heat detector is a fire alarm device designed to respond when the convected thermal energy of a fire increases the temperature of a heat sensitive element. The thermal mass and conductivity of the element regulate the rate flow of heat into the element. All heat detectors have this thermal lag (Wiring from switches to panel and stair case pressurization not included)	Nos		1.00	5,000.00	5,000.00
48		H (HOOTER) - Providing and fixing electrically operated flow indicating mechanical foam type (ISI marked) Fire Alarm Systems. A fire alarm system is a electrical electronic system which is connected with many type of devices such as main panel, smoke heat detectors, mcp, sounder etc to detect the fire event by indiacating audio or visualize signal at the main or individual devices.Model Honeywell Notifier with GI mounting Box	Nos		1.00	2,750.00	2,750.00
49		SD (SMOKE DETECTOR ABOVE CEILING) - Providing and fixing electrically operated flow indicating mechanical foam type (ISI marked) An optical smoke detector. Smoke enters through the slits around the side, triggering an electronic horn, which sounds through the large circular opening on the right. The dark circle in the middle is a test button with a built-in LED that flashes to show the detector is working okay.Model Honeywell Notifier.	NOS		1.00	4,200.00	4,200.00
50		R1 (RESPONSE INDICATORS) - Providing and fixing electrically operated flow indicating mechanical foam type (ISI marked) Response indicators are connected to automatic fire detectors in order to indicate quickly the source of an alarm signal from detectors which are not easily accessible or visible. They light up as soon as the connected fire detector gives an alarm.(Wiring from switches to panel and stair case pressurization not included)	Nos		1.00	600.00	600.00
51		Providing and fixing electrically operated flow indicating mechanical foam type (ISI marked) Manual call points are used to initiate an alarm signal, and operate by means of a simple button press or when glass is broken revealing a button. They can form part of a manual alarm system or an automatic alarm system. Model Honeywell Notifier and FM approved with GI mounting Box	Nos		1.00	800.00	800.00
52		SD (SMOKE DETECTOR BELOW CEILING) - Providing and fixing electrically operated flow indicating mechanical foam type (ISI marked) An optical smoke detector. Smoke enters through the slits around the side, triggering an electronic horn, which sounds through the large circular opening on the right. The dark circle in the middle is a test button with a built-in LED that flashes to show the detector is working okay. Model Honeywell Notifier.	NOS		1.00	5,000.00	5,000.00
53		FIRE ALARM SYSTEM LOOPING	RMT.		25.00	220.00	5,500.00
			·	Total :	31.00		23,850.00

ItemName : Electrical Work

Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
54		4C – 16.0 (Cu.) FRLS Armoured XLPE Cable	Nos.		2.00	850.00	1,700.00
55		3C – 4.0 (Cu.) FRLS Armoured XLPE Cable	Nos.		2.00	430.00	860.00
56		2 x 4 sq.mm + 1 No. 2.5 Sq. mm in 25 mm dia MS Conduit	Mtrs		115.00	575.00	66,125.00

		ı			
57	Wiring for a 5 pin 240 volt 6 amp single phase and neutral switch socket outlet with 2.5 sq. mm PVC insulated stranded copper conductor 1100 Volt grade wires (FRLS) in 25mm dia 16 SWG MS conduit in wall or ceiling including cost of providing circuit wiring with 2.5 sq mm PVC insulated stranded copper conductor 1100 volt grade wires and including cost of cutting and filling chases for recessed conduiting and supports in case of surface conduit including all bends, saddles, Junction boxes etc and providing and fixing of a combined 5 pin 240 volt 6 amp socket outlet with safety shutters and 6 amp 240 volt single pole grid plate mounted switch with moulded cover plate in recessed Gl box and including earthing of the 3rd pin with 1.5 sq mm 1100 volt grade PVC insulated stranded copper conductor wires complete as requied(Switch and socket shall be as approved by the architect or Client)	Pt.	3.00	2,850.00	8,550.00
58	Wiring for 6 pin 240 volt 16 amp single phase and neutral switch socket outlets (2 outlets wired on 1 circuit) with PVC insulated stranded copper conductor 1100 volt grade wires (FRLS), 4.0 sq mm upto the first outlet and 2.5 sq mm from first to the second outlet in 25mm dia 16 SWG MS conduit in wall or Ceiling including cost of providing saddles etc as required for surface conduiting and or or cost of cutting and filling chases and including providing and fixing of two sets of 6 pin 240 volt 16 amp socket outlet with safety shutters and 16 amp 240 volt single pole grid plate mounted switches with moulded cover plate in a recessed Gl box including earthing of the 3rd pin with 2.5 sq mm 1100 volt grade PVC insulated stranded copper conductor wire complete as required. (Switch or Socket Shall be as per approved sample by Architect)	Pt.	3.00	3,800.00	11,400.00
59	Supply and Installation of following in wall mounted MS enclosure - 32A or 25A DP RCBO	Nos	1.00	10,000.00	10,000.00
60	Supply, installation, testing, commissioning and laying of Category 6A cable in existing conduits or raceways including Numbering-ferruling, bunching, tagging, computerised labeling of utp cable, Input and Output termination or Punching at both the ends, (both side i.e. user and rack) Cable Dressing etc as required.	Mtrs	30.00	120.00	3,600.00
61	Supplying,installation and commisioning of CAT-6A patch cords 2 mtrs.	Nos	1.00	800.00	800.00
62	4C – 16.0 (Cu.) FRLS Armoured XLPE Cable	Mtrs	20.00	1,400.00	28,000.00
63	3C – 4.0 (Cu.) FRLS Armoured XLPE Cable	Mtrs	25.00	380.00	9,500.00
64	Supply, erection, testing and commissioning of following sizes of cable end terminations with Double compression gland for 1.1 kV grade, XLPE insulated, Al or Cu Conductor cable		0.00	0.00	0.00
65	Wiring for DB Submains with PVC insulated stranded copper conductor 1100 volt grade wires (FRLS) in surface or concealed MS surface or concealed conduit including cost of providing saddles etc as required for surface conduiting and or or cost of cutting and filling chases as required and making suitable end termination with copper lugs complete as required and as below		0.00	0.00	0.00
66	Supplying and laying of the following earthing clamped to wall with suitable clamps saddles and fixing bolts or in ground including the cost of digging and back filling as required and complete as required to comply with IS 3043 1987. All copper joints shall be tinned. The rates shall be inclusive of making test joints where ever required		0.00	0.00	0.00

07	Ometer construction to the construction of the		1	0.551	0.55
67	Supply, erection, testing and commissioning of prefabricated GI Perforated type cable trays including Tees or Bends or Crossing or Reducers or Couping to be laid in cable trench, overhead on wall or hanged from ceiling complete with all accessories as required including support at every 1500mm as required		0.00	0.00	0.00
68	Wiring for MCB controlled normal primary light points or Wall Point or Floor Point with 2.5 sq. mm PVC insulated stranded copper conductor 1100 Volt grade FRLS wires in 25 mm dia 16 SWG MS conduit in wall or ceiling including cost of cutting and filling chases for recessed conduiting and supports in case of surface conduit including all bends, saddles, Junction boxes etc and including the cost of running 1.5 Sq. mm PVC insulated copper conductor wire for loop earthing etc. complete as required. (Cost of MCB included in the item for per DB).	Pt	1.00	2,400.00	2,400.00
69	Wiring for secondary MCB controlled normal light points or Wall Point or Floor Point(Looped from above point) with 1.5 sq. mm PVC insulated stranded copper conductor 1100 Volt grade FRLS wires in 25 mm 16 SWG MS conduit in wall or ceiling including cost of cutting and filling chases for recessed conduiting and supports in case of surface conduit including all bends, saddles, Junction boxes etc and including the cost of running 1.5 Sq mm PVC insulated copper conductor wire for loop earthing etc. complete as required.	Pt	2.00	1,450.00	2,900.00
70	Wiring for switch controlled primary light points with 1.5 sq. mm PVC insulated stranded copper conductor 1100 Volt grade wires (FRLS) in 25 mm dia 16 SWG MS concealed or surface conduit including cost of cutting and filling chases for recessed conduiting and supports in case of Surface conduit including all bends, saddles, Junction boxes etc. including the cost of running 1.5 sq. mm PVC insulated copper conductor wire for loop earthing etc. and including providing circuit wiring with 2.5 sq mm PVC insulated stranded copper conductor 1100 volt grade FRLS wires and including the cost of providing and fixing a 6 amp 240 Volt grid plate mounted switch with moulded cover plate in GI box and complete as required (Switch shall be as approved by the architect or Client)	Pt.	1.00	2,400.00	2,400.00
71	Supply, fixing and Laying 16 SWG MS conduits on surface or concealed complete with PVC junction boxes, cover plates, bends, saddles, base and other accessories all made in PVC with GI screws as required to complete the job. 20 mm dia 16 SWG MS conduit	Mtrs	30.00	200.00	6,000.00
72	DISTRIBUTION BOARDS - Supply, erection, testing and commissioning of the following sheet steel clad wall recess mounting dust and vermin proof double door type distribution boards constructed from 16 SWG sheet steel IP 42 construction, finished with rust proof duly powder coated in approved shade with hinged gasketed door and housing the following complete with P.V.C. insulated copper busbars rated 200 amp with interconnections, neutral and earth bar assembly per phase, earthing terminals complete as approved by Architects. Note All MCBs in distribuition board for power circuits shall be of C curve		0.00	0.00	0.00
73	Lighting and Power DB with tagging as per drawings - 1-63 amp FP MCB with 3 single phase banks each comprising of 63A DP RCCB(30 mA) and 8 nos. 6 or 16 or 20 or 25 amps SP 10 kA MCB(Type C) with thermal magnetic protective releases out goings.	Set	1.00	33,000.00	33,000.00

74	Supply, laying, testing and commissioning of following sizes of Al or Cu. conductor 1.1 kV grade, armoured, XLPE insulated FRLS LT Cables or Control Cables including necessary cleats, clamps etc. (Cables shall be partly laid in Pipes, O or H cable tray, on wall as required)		0.00	0.00	0.00
75	25X3 mm GI Strip	Mtrs	25.00	260.00	6,500.00
76	Wiring for MCB controlled Emergency primary light points or Wall Point or Floor Point with 2.5 sq. mm PVC insulated stranded copper conductor 1100 Volt grade FRLS wires in 25 mm dia 16 SWG MS conduit in wall or ceiling including cost of cutting and filling chases for recessed conduiting and supports in case of surface conduit including all bends, saddles, Junction boxes etc and including the cost of running 1.5 Sq. mm PVC insulated copper conductor wire for loop earthing etc. complete as required. (Cost of MCB included in the item for per DB).	Pt	1.00	2,800.00	2,800.00
77	Wiring for secondary MCB controlled Emergency light points or Wall Point or Floor Point(Looped from above point) with 1.5 sq. mm PVC insulated stranded copper conductor 1100 Volt grade FRLS wires in 25 mm 16 SWG MS conduit in wall or ceiling including cost of cutting and filling chases for recessed conduiting and supports in case of surface conduit including all bends, saddles, Junction boxes etc and including the cost of running 1.5 Sq mm PVC insulated copper conductor wire for loop earthing etc. complete as required.	Pt	1.00	1,450.00	1,450.00
78	Wiring for 6 pin 240 volt 16 amp single phase and neutral switch socket outlets (1 outlet wired on 1 circuit) with 4.0 sq. mm PVC insulated stranded copper conductor 1100 volt grade wires (FRLS) in 25mm dia 16 SWG MS conduit in wall or Ceiling including the cost of cutting and filling chases for recessed conduiting and supports in case of surface conduit including all bends, saddles, Junction boxes etc and including providing and fixing 6 pin 240 volt 16 amp socket outlet with safety shutters and 16 amp 240 volt single pole grid plate mounted modular type switch with moulded cover plate in recessed GI box and including earthing of the 3rd pin with 2.5 sq mm 1100 volt grade PVC insulated stranded copper conductor wires and complete as requied(Switch and socket shall be as approved by the architect or Client)	Pt.	8.00	2,850.00	22,800.00
79	Supply installation testing and fixing 3 pin 25A or 32A, 240V, single Phase metal Clad industrial socket outlet with 25A or 32A DP MCB and complete in all respects(Wiring Excluded from scope of this item)	Nos.	4.00	2,850.00	11,400.00
80	Supply installation testing and fixing 5 pin 32 A , 415V , Three Phase metal Clad industrial socket outlet with 32 A FP MCB and complete in all respects(Wiring Excluded from scope of this item)	Nos.	1.00	14,000.00	14,000.00
81	Supply and installation of flush mounted (Enhanced Category 6 T 568 A or B) outlets with 2 mm thick GI box complete including cutting, chases, fixing of GI boxes and making good. The plastic shall be high impact, flame-retardant, UL rate thermoplastic. Dust cover or blank shall be provided to protect unused faceplate openings. Termination caps and plastic cover shall be provided to protect jack wiring. Single outlet face plate with RJ-45 Jack with information outlet	Nos.	1.00	600.00	600.00
82	4 x 6 sq.mm + 2 No. 4.0 Sq. mm in 32 mm dia MS Conduit	Mtrs	25.00	1,550.00	38,750.00
83	8 SWG Copper Wire	Mtrs	30.00	280.00	8,400.00

84	8 SWG GI Wire	Mtrs		20.00	110.00	2,200.00
85	150 mm x 40 x 40 x 2 mm thick	Mtrs		25.00	625.00	15,625.00
86	Wiring for 6 pin 240 volt 16 amp single phase and neutral switch socket outlets (1 outlet wired on 1 circuit) with 2.5 sq. mm PVC insulated stranded copper conductor 1100 volt grade wires (FRLS) in 25mm dia 16 SWG MS conduit in wall or Ceiling including the cost of cutting and filling chases for recessed conduiting and supports in case of surface conduit including all bends, saddles, Junction boxes etc and including providing and fixing 6 pin 240 volt 16 amp socket outlet with safety shutters and 16 amp 240 volt single pole grid plate mounted modular type switch with moulded cover plate in recessed GI box and including earthing of the 3rd pin with 1.5 sq mm 1100 volt grade PVC insulated stranded copper conductor wires and complete as requied(Switch and socket shall be as approved by the architect or Client)	Pt.		1.00	3,350.00	3,350.00
87	Supply installation testing and fixing 3 pin 16A or 20A, 240V, single Phase metal Clad industrial socket outlet with 16A or 20A DP MCB and complete in all respects(Wiring Excluded from scope of this item)	Nos.		3.00	2,850.00	8,550.00
88	Supplying,installation and commisioning of CAT-6A patch cords 1 mtr.	Nos		1.00	540.00	540.00
89	Supply and fixing of air curtain with automatic sensor - 4ft - Euronics or Russell	Nos.		1.00	24,000.00	24,000.00
90	Installation of following light fixtures including connections and complete in all respects - 25 or 15 or 12 Watt Recessed Down Lighter	No.		15.00	300.00	4,500.00
Total:						352,700.00

ItemName : Fire Sprinkler System

Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
91		40 mm dia	Rmt.		12.00	37.00	444.00
92		Air Release Valve	No.		1.00	2,730.00	2,730.00
93		UP Right Type	No.		6.00	1,965.00	11,790.00
94		Synthetic Enamel Paint.			0.00	0.00	0.00
95		25 mm dia	Rmt.		14.00	37.00	518.00
96		Providing and Fixing of Butterfly Valve 65mm dia	No.		1.00	5,450.00	5,450.00
97		Providing and Fixing of Ball Valve 65 mm dia	No.		1.00	6,800.00	6,800.00
98		HEADER FITTING.			0.00	0.00	0.00
99		Pendant Type	No.		6.00	1,775.00	10,650.00
100		Drain Valve	No.		1.00	4,500.00	4,500.00
101		25 mm dia	Rmt.		14.00	300.00	4,200.00
102		Pressure Gauge	No.		1.00	7,350.00	7,350.00
103		Providing, Laying, Jointing and Testing of Pipes for Sprinkler System - G.I Pipe confirming IS Codes Class `C Heavy Pipe and with necessary support and anchore fastening from slab.			0.00	0.00	0.00

104		40 mm dia	Rmt.		12.00	350.00	4,200.00
105		Flow Switch	No.		1.00	10,000.00	10,000.00
106		80 mm dia NRV	No.		1.00	6,800.00	6,800.00
107		Providing and Fixing C.P. Brass 79 degree(QR) Quartzoid Bulb Sprinklers. Make Tyco or viking temp rating standard coverage discharge coefficent k- 6.6 quick response UL listed and EN approved for high temperature area in Kitchen temprating shall			0.00	0.00	0.00
108		Flexible Sprinkler Drop 25mm	No.		12.00	3,600.00	43,200.00
	Total :				83.00		118,632.00